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HANSEN & QUINN: Review Sheet #1 (for Units 11-20) - Basics (Accents, Spelling, Vocabulary, etc.) (KEY)

What is a deponent verb? Describe the three types of deponents with which you are familiar.

Deponent verbs are verbs which lack an active voice and which show only middle or passive forms. Middle deponents are
verbs that have principal parts entirely in the middle voice. They are translated by English active verbs with no additional
middle force. Passive deponents are essentially middle deponents whose Aorist middle (principal part #3) has been replaced
by an aorist passive (principal part #6). Their forms, too, are translated by an English active verb. Finally, there are also
partial deponents, verbs that lack an active voice in one or more tenses, but not throughout their conjugation. The deponent
tenses are translated by English actives, but all other tenses are translated as per the usual.

What common Greek phrase means "to pay the penalty"?
That would be dixnv 8186va, which, by the way, NEVER means "to give justice".

Describe the difference between the following two phrases: év tfj péomn dyopq and év péon tfj dyopd.

év 1§} uéon dyopd: "in the middle marketplace" When used in the attributive position, uécog, uéon, uécov means
"middle".
év uéon tfj &yopd: "in the middle of the marketplace" When it precedes the article, it means "middle of" (with the

following noun).

List seven Greek enclitics.

ve, "at any rate; at least" -nep (adds force to preceding word)
noté, "at some time, ever" nov, "I suppose; somewhere"
nog, "in any way, in some way" e, "and"

tot, "let me tell you, you know"

Describe what happens to a word whose accent is as far back as it can go (e.g.: évBponoc or éxeiva) when it is
followed by an enclitic. Does the enclitic take an accent?

When such a word is followed by an enclitic, the word receives an additional acute accent on its final syllable (e.g.:
8vBpwndc or éxeivd). There is no accent on the enclitic.

Describe what happens to a word with an accent on its final syllable (e.g.: dnuwovpydc or dyabdv) when it is
followed by an enclitic. Does the enclitic take an accent?

When such a word is followed by an enclitic, the accent on the word remains unchanged (e.g.: dnuiovpydc or dyafdv), save
that acutes are not changed to graves. There is no accent on the enclitic.

When does a disyllabic enclitic take an accent?

Only in the case of a word with an acute accent on the penult followed by a disyllabic enclitic does the enclitic have an
accent, an acute on the final syllable of the word (e.g.: dvdpdot Ticiv). Tivev, however, takes a circumflex (tTivv).

What happens accent-wise if a series of enclitics occurs?

In a series of enclitics, each takes an acute accent from the following enclitic. The final enclitic in such a series has no
accent, however (e.g.: £&v moté tig Ti TIvi 018®).

What are correlative adjectives? Give the (three separate) dictionary entries for one set of correlatives.

Correlative adjectives are adjectives that have interrelated interrogative (beginning with m), demonstrative (beginning with 1)
and relative/exclamatory (beginning with a rough breathing) forms. Ex: molog, noia, motov, "of what kind?"; Tolobtog,
TO10001T], T0100T0/T0100T0V, "of this/that sort, such (as this)"; and oiog, oto, otov, "such as, of the sort which; what sort of!".
Also: ndcog, tdon, tdcov, "how much/many?, how large?"; tocov10¢, TOGAVTN, T060VTO/T060VTOV, "so much/many, so
large"; and 8co¢, Gom, Ocov, "as much/many as, as large as; how much/many!, how large!".
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What does the verb ¢nui mean when negated?
When negated, enpui means "say no" or "deny", NOT "do not say".

Describe how the verb eiut is employed in Attic prose (i.e., What other Greek verb is it often substituted for in
various tenses?)

In Attic prose the present indicative forms of eiut are used as the future indicative of £pyopai, which is used only in the
present indicative. In indirect statement the optative, infinitive and participle of eiut can stand for forms of eiut in an original
statement and therefore represent an original future or they can stand for forms of €pyopot and therefore represent an

original present tense.

Describe the following aspects of the verb &w: difference between the imperfect and aorist tenses, difference
between the two forms of the second principal part, meaning when accompanied by a complementary infinitive,
meaning when accompanied by an adverb.

The future €€ of the verb €y has progressive/repeated aspect and is used of an action that lasts; the future oyfcw has
simple aspect. As always, the imperfect has progressive/repeated aspect ("was/were holding") and the aorist simple aspect
("took hold of"). When &y is accompanied by a complementary infinitive it typically has the meaning "be able to". When a
form of €y is accompanied by an adverb, the resulting phrase is the equivalent of the verb "to be" with an adjective.

Describe the two basic meanings of the verb uéAAw® and indicate when each is likely to occur.

When péAlw means "be about/likely to" it governs a future (sometimes present) infinitive. When it is used by itself, or with
a present infinitive, it means "delay".

Describe the situation(s) under which the case of a relative pronoun is likely to be attracted into that of its
antecedent (original case of pronoun and case of antecedent).

Attraction of the relative pronoun into the case of its antecedent is most likely to occur when the relative pronoun is
(originally) Accusative and the case of the antecedent is either Genitive or Dative.

Under what circumstances is the antecedent of a relative pronoun sometimes left out?

The antecedent of a relative pronoun is often omitted when said antecedent is either indefinite or demonstrative.

What is a periphrastic verb form? (See the vocabulary notes for the verb aicydvouar.)

A periphrastic verb form is a verb form that consists of two or more parts. For example, the second person singular, perfect
indicative middle/passive of aicybvouor is noyvuuévog (-a, -ov) el. The form consists of a Nominative singular form of the
perfect middle/passive participle and the present indicative active, second person singular of eiui. The form is translated like
any other second person singular, perfect indicative middle/passive (of a deponent), however: "you have felt shame".

With what verb does keipot have a special relationship? What is the nature of this relationship?

The present tense of keipon serves as the perfect passive of ti@nu1, and the imperfect as its pluperfect.

When ¢oaivw means "appear", what is the difference between using it with a participle and with an infinitive?

When @oive means "appear", the infinitive helps to describe an apparent state of being. The overall construction does not
indicate that this state of being is true or real, however (e.g.: paivetan kokog eivat, "he appears to be bad"). With the
participle, the construction indicates that a certain act or state of being is, in fact, true or real (e.g.: oiveton koxog ¢ov, "he is
apparent, being bad" = "it is apparent that he is bad").

Describe the uses of dxovw to mean "hear" and "be spoken of".

When dkov® means "hear", it can take an Accusative of the thing heard and/or a Genitive of the person heard (speaking).
When it means "be spoken of" (also in the active voice) it can take a Genitive of personal agent.
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HANSEN & QUINN: Review Sheet #2 (for Units 11-20) - The Case System (KEY)

The following sentences highlight additional uses of the GENITIVE case with which you should
be familiar. Translate them, identify the Genitive nouns, and describe how they are used:

A).

B).

C).

D).

10070V TOVG Pilovg ADGOVTOC Kol TAV ToAEUimY TOLE GTPATIOTOG VIKNGAVTOV, ol Buyortépeg
elg Vv vijoov meppbncovrot. (Genitive Absolute, Unit 11)

Since this one/man has released the/his friends and the enemies have conquered the soldiers, the
daughters will be sent (in)to the island.

ol &v T} xOPQ YPoPelg amedidovto Tt ceétepa avtdv PifAio Tar GAplota T TOAAOD XPLCOY
kol OAlyov dpyvpiov. (Genitive of price, Unit 12)

The writers in the country used to sell their own books, (namely) the best ones, for (both) a lot of
gold and a little silver.

névteg ol év 10 medio Aibot, Baphrepotl ToAD @V Topd To1g Teixesty, EBANONca eig v
ueilova thg viicou BdAatto. (Genitive of comparison, Unit 15)

All of the rocks in the field, much heavier than those at the side of the city walls, were cast into
the sea (which was/is) greater than the island.

101G év T mopd tf) Boddtty dotet lotpoig Vdatog £déncey. (Genitive of separation,
Unit 20)

There was need of water to the doctors in the town by the sea. (The doctors in the town by the
sea needed water.)

The following sentences highlight some additional uses of the DATIVE case. Translate,
identify Dative forms, and describe the type or use of the Dative case in each:

A).

Aoxedotpoviog Eoton i tdv ‘EAAMvov dpyn kol dVvopig peydAn v ot "ABnvaiot év i
uoym vikn0doy. (Dative of the possessor, Unit 15)

To the Lacedaimonians there will be (The Lacedaimonians will have) rule/hegemony over the
Greeks and great power if the Athenians are defeated in (the) battle.




B).

® veavio, unyovd Snmg ToAL eddoipovécTtepog £uod ye yevioetl mot’ GAL dAiy®
QLPPOVEGTEPOC. (Dative of degree of difference, Unit 17)

O youth, devise that you (will) become much more fortunate than me at some point, but (only) a
little more senseless.

3). The ACCUSATIVE case is highlighted in the next few sentences. Translate, identify
Accusative forms, and describe how the Accusative case is used in each:

A).

B).

C).

D).

01 €K THG YOPOG VTTO TV TPLAV EVYEVAV UNTEPOV EKTECOVTEG OTPOTIATOL COPPOGVVNV KOAOL
noowv, GAAC dOVOULY TOVTPOL. (Accusative of respect, Unit 13)

The soldiers expelled from the land by the three noble mothers were good with respect to their
prudence, but worthless with respect to might.

tivo. Tpdmov fpele S1ddEmpev Tov Nuétepov oTdV AdeApdv; TdVvde TOV TpdmoV, G Pilot: Toig
10V ‘Ounpov érnectv. (Adverbial Accusative, Unit 15)

In what way are we to educate our (own) brother? In the following way, (o) friends: with the
epic poetry of Homer.

vouilete pev 1ov Afo, LO T@V EAA®V Bedv ékneceicBon, dxodm 8¢ Tdvtog Tovg dadpovag

gxelvov plAobvteg.  (Accusative as subject in indirect discourse, Unit 16)

Y'all believe that Zeus will be expelled by the other gods, but I hear that all of the divinities love
him.

dokodv ndet muvB&vesBon mepl g vocov, 6 év @ dotet lotpog elg Ty ékkAnciov
eloekékAnto. (Accusative Absolute, Unit 20)

It seeming best to everyone to find out about the sickness, the doctor in the town had been called
into the assembly.
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HANSEN & QUINN: Review Sheet #3 (for Units 11-20) - Pronoun/Adjective Forms (KEY)
Decline &otv, doteng, t6 alongside the proper forms of avtdc, avt, adtd. Label case and number.

Nom. AGTY 0VTO aot T
Gen. doTeEmg AOTOD GoTEMV OLOTOV
Dat. GoTel 0VTQ Gotectv oTolg
Acc. AGTV 0OTO aot T
Voc. AGTY --- aot ---

S P

Decline tic, 7t alongside tic, 1. Label case, number and gender and include all alternate forms.

tiva

Tig at Tiveg Nom. Tig Tt Tvée e
tivog/tod tivog/tod Tivov  tivav Gen.  Ttwéc/ton Tvdc/Ton VOV TV
Tivi/i® Tivi/i® tlouv) Tiowv) Dat. Twifte Twifte tol(v) Tol(v)
Tivor at tivag  tiva Acc.  Twé Tt Twvée e
M/FS NS M/FP NP M/FS NS M/FP NP

Decline the personal pronouns (¢yo, o¥, huelc and vueic). Label case and number and include all alternate forms.

Nom. £&yo Nom. muelg Nom. oV Nom. buelg

Gen.  éuod/uov Gen.  Muov Gen.  cob/cov Gen.  LUOV

Dat.  époi/uot Dat.  fuiv Dat.  col/cot Dat.  buiv

Acc.  éué/ue Acc.  Mubg Acc.  oéfoe Acc.  VDubg
S P S P

Decline the reflexive pronouns (éuovtod, éuovtiic; 6e0vTod, 6eavTRG; £0VTOD, EXVTHG, E0VTOD; NUAY AVTAV; DUDY
avT®V; £tV / ceav avtdv). Label case, number and gender.

Gen.  éuovTod EUonThg Gen.  Mudv oOTOV NUAV 0OTOV
Dat. ELOVTD EUovTh Dat. Nuiv avTolg Nulv ovTelg
Acc.  éuontov EHOVTAY Acc.  Mudg avTovg NUBG DTG
Gen.  ceonTOD oeanTiig Gen. LUV AVTOV VUDY 0VTOV
Dat. GEOVTY oeanTi Dat. DUlv o010l Lulv ovTelg
Acc.  ceontdv oEoVTNY Acc. VUGG adTodg  LUBIG adTAG
MS FS MP FP
Gen.  &ow1od £owthig E0VTOD Gen.  €0VTOV / GODY OVTDV E0VTAV / GOOV OOTAOV EQVTOV
Dat. EOVTH EOVTH  EOVTH Dat. gavtolg / oplow avtole Eawtaic/oolow adtaly £ovtoig
Acc.  EowTOV £0VTAV E0WTO Acc.  £0wT00G/ 0QOG 0DTONG  EQLTAG / QO OVTOG EoVTE
MS FS NS MP FP NP
Decline molb¢, moAAn, toAd. Label case, number and gender.
Nom. moAvg TOAAN ToAD ToAAO oAl TOAAG,
Gen.  moAAOD TOAATG TOAAOD TOAADV TOAALDV TOAALDV
Dat. TOAA®D TOAAR TOAA®D TOAAOTG ToAlO1G noAlolg
Acc.  moAdv TOAARY ToAD TOAAOVG TOAAGG TOAAG,
MS FS NS MP FP NP
Decline vadg, veag, 1 alongside the proper forms of uéyag, ueydAn, uéye. Label case and number.
S P
Nom.  vodg peyaAn viieg peydhan
Gen.  vemg peydAng VERV UeYGAmV
Dat. vni peyaan vouoi ueydioig
Acc.  vodv peydAnv vodg ueyddog
Voc.  vad ueydin viieg peydhan
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Decline vodg, vob, 0 alongside the proper forms of toayb¢, tayeia, Toyd. Label case and number.

Nom.
Gen.
Dat.
Acc.
Voc.

Decline
gender.

Nom.
Gen.
Dat.
Acc.

Voc.

Nom.
Gen.
Dat.
Acc.
Voc.

Nom.
Gen.
Dat.
Acc.
Voc.

VoG Toy G
VoL Toyéog
v Toyel
VoV T OV
VoL Toyd

S

VOl ToyElg
VoV ToEnv
volg Toéot(v)
voUG TayELg
VOl ToyElg

P

the positive, comparative and superlative degrees of éx0pdc, x0pé, éx0pév. Label case, number and

8xBpdc &xBpd
8xBpod &xOpaic
ex0pd  €x0pd
gxBpdv ExBpdv
8xBpé  &xOpd
MS FS

gx0iov
¢xBlovoc
gxBiovi
¢xBlovo/éxBio
£xBrov

M/FS

éxBrotoc
gxBictov
¢xbioto
éxOrotov

ExOrote
MS

gx0pdv gxOpol &xBpa  &xOpd

gxBpod &xBpadv &xBpadv éxBpadv

&x0pd gxBpoic &xBpoic éxBpoic

gxBpdv 8xBpoic éxBpdic ¢xBpd

gx0pdv gxOpol &xBpa  &xOpd

NS MP NP

ExOrov éxBlovec/gybiovg ¢xBlovo/éxBio

¢xBiovoc gxBdvov gxBdvov

gxBiovi gxBlooi(v) ¢xBlooi(v)

ExOrov éxBlovag/éxBlovg ¢xBlovo/éxBio

ExDov éxBlovec/gyBiovg ¢xBlovo/éxBio

NS M/FP NP

gxBiom éxOrotov éxBioTor ExBroTon éxBiotol

gxBiotnc ¢xBictov gxBictav gxBictav gxBictav
éxBlotn ¢xbioto ¢xBictorg gxBiotong gxBiotorg
gxBioty Exbiotov gxBiotoug gxBiotoc Exbota

gxBiom éxOrotov éxBioTor ExBroTon éxBiotol

FS NS MP FP NP

Decline the numbers 1 (gic, pio, v), 2 (800), 3 (tpelc, tpia) and 4 (téttapec, téttopa). Label case and gender.

Nom.
Gen.

Dat.
Acc.

elg uior
gvég  wag
évi g
gval plowv
M F

gv dvo
&vog dvoiv
évi dvolv
gv dvo

N M/F/N

Decline obdeic, 00depia, 008év alongside undeic, undeuio, undév. Label case and gender.

Nom.
Gen.
Dat.
Acc.

ovdelc
000evig
ovdevi
00déval
M

ovdepio 0084y
00dep1biG 000evig
00dey 00devi
ovdepiov 0084y

F N

Decline dotic, fitic, 6t1. Label case, number and gender and give all alternate forms.

Nom.
Gen.
Dat.
Acc.

dotig
oUTIvos/dtou
dTvi/Ste
Svtva

MS

fing

NoeTwvog

Arve
fviwva
FS

gl

oUTIvos/dtou
OTW/0TQ

T
NS

el tplo TETTOPEG TETTOPOL
TPV TPV TETTA POV TETTA POV
tpoi(v) Tpioi(v) €10 poL(V) Té1t0poL(V)
el tplo TETTOPOG TETTOPOL
M/F N M/F N

undeic undepio undév

undevoc undentog undevoc

undevi undepd: undevi

undévao undepnioy undév

M F N

ottveg ofTveg arwo/arto
OVTIVOV/STov  GVTIVOV OVTIVOV/STov
oloTio(v)/dTo1g aioTion(v) oloTioL(v)/dTo1g
oVoTIvog AoTIVOG arwo/arto

MP FP NP
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HANSEN & QUINN: Review Sheet #4 (for Units 11-20) - Pronoun/Adjective Uses (KEY)

Describe the three main ways in which avtdc, adtf, adtd is used:

As an adjective in the attributive position, a0tdg, adTh, 0vdtd means "same". In the predicate position, or standing alone in
the Nominative case, it means "-self". By itself in the Genitive, dative or Accusative cases it serves as the personal pronoun
for the third person.

Describe the three main uses of the supplementary participle with which you are familiar:

The supplementary participle completes the meaning of a verb. Verbs indicating emotion (such as yaipw, "take pleasure,
enjoy") can often take a supplementary participle which is best translated as an English gerund. Verbs of beginning (such as
Gpyw, "begin" [mid.]), enduring and ceasing (such as navw, "stop"; "cease" [mid.]) take a supplementary participle, generally
in the present tense and best translated by the English gerund. Also, the verbs AavBdvo ("escape the notice of" [+ Acc.]),
@Bdvm ("act first; be first [in doing something]; anticipate [someone]") and tvyxdvm ("happen [to]; hit the mark; obtain [+
Gen.]) often take supplementary participles.

How is tig, ti used? What about tig, t1?

tig, i is the interrogative adjective or pronoun; as such, it is used to ask direct questions. tig, Tt is the indefinite adjective or
pronoun and designates someone or -thing non-specific.

Say a few words about both regular and reflexive possession in Greek.

Thank you! I will. To show possession in the first and second persons, one can use either the possessive adjective (in the
attributive position) or the Genitive of the personal pronoun (enclitic in the singular, in the predicate position). To show
possession in the third person, use the Genitive of a demonstrative pronoun (in the attributive position) or the Genitive of
a01dG, adTh, Ot (in the predicate position). To show reflexive possession in the singular, use the Genitive of the reflexive
pronoun (in the attributive position) or (less commonly) the possessive adjectives £udg and 6dg. In the plural, for the first and
second persons use Nuétepog, Nuetépa, Nuétepov and vuétepog, Luetépa, LUETepov by themselves or (more commonly)
strengthened by o0t@v. In the third person plural use éoxvt@®v (in the attributive position) or the reflexive possessive
adjective cpétepog, opetépa, cpétepov, strengthened by adtdv.

Name the three degrees of the Greek adjective and characterize each.

The positive degree simply attributes a quality to a noun or pronoun. The comparative degree shows that of two nouns or
pronouns one has more of a quality than the other or that one noun or pronoun has the quality to a rather high degree. The
superlative degree shows that of more than two nouns or pronouns one has the most of a quality or that a noun or pronoun has
the quality to a very high degree.

Describe the two basic ways in which Greek adjectives are compared (i.e., the two main ways to make
comparative adjectives out of positive ones).

Most adjectives form their comparative degree with the suffixes -tepoc, -tepa, -tepov (and their superlative degree with the
suffixes -tatog, -totn, -tatov). For first and second declension adjectives, get the stem for the positive degree and add an
omicron (if the stem ends in a long syllable) or an omega (if the stem ends in a short syllable) followed by the suffixes. Third
declension adjectives in -ng, -e¢ and third and first declension adjectives ending in -V¢, -gia, -0 add the suffixes directly to the
stem without any intervening vowel. A certain number of adjectives use the suffixes -iwv, -tov and -1670¢, -161T1, -1GTOV tO
form their comparative and superlative degrees, respectively. These must be learned separately.

How can one harness the power of the comparative or superlative degree of an adjective without actually forming
the comparative or superlative degree of an adjective? (/.e., What other words can one use?)

An alternative to making the comparative or superlative of an adjective is to retain the positive degree and add the
comparative adverb uaAlov ("more") or the superlative adverb paAisto ("most").

How does one make a "superlative" superlative?

The conjunctions §t1 and @¢, when followed by the superlative degree, mean "as... as possible".
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Name an alternative to comparison with the Genitive of comparison and give a brief description of how this
construction works.

One can make a comparison with the conjunction 1}, "than". The things being compared with 1} must be in the same case.
The case(s) of the things being compared depends on their use in their own clauses.

Briefly describe how sequences of simple and compound negatives work in Greek:

A simple negative (un, o0) followed by a compound negative or negatives (e.g.: undeig, 00delc), or a compound negative
followed by another compound negative or negatives, has its negation strengthened. A compound negative followed by a
simple negative produces a positive statement.

Describe the two main ways in which o1, 1it1c, 011 is used:
doT1g, 1T1G, OTL serves as the indefinite relative pronoun ("whoever, whatever") and adds an extra generalizing force, often to
a conditional sentence. It also serves as the indirect interrogative pronoun/adjective ("who, what") introducing an indirect

question.

Give the dictionary entries for three direct interrogative pronouns/adjectives as well as the dictionary entries of
their indefinite/indirect interrogative forms.

DIRECT INTERROGATIVE INDIRECT/INDEFINITE INTERROGATIVE

nolog, moia, wolov, "of what kind?" omnolog, omoia, onolov, "of what(ever) sort?"

ndc0g, TOoN, TOcov, "how much/many?, how large?" ondcog, omdon, ondcov, "how(ever) much/many?"
ndTEPOC, TOTéPQL, TOTEPOV, "Which (of two)?" ondtepog, onotépa, Ondtepov, "which(ever) (of two)?"
Tic, ti, "who, what?" dotig, 11, 011, "whoever, whatever, who?, what?"

Give the dictionary entries for three direct interrogative adverbs as well as the dictionary entries of their indefinite
enclitic and indefinite relative / indirect interrogative forms.

DIRECT INTERROGATIVE INDEFINITE ENCLITIC INDEFINITE/INDIRECT INTERROGATIVE
n60¢ev, "from where?, whence?" noBév, "from somewhere" omd0ev, "from wherever, from where?, whence?"
wo1, "to where?, whither?" not, "to some place" Omot, "to wherever, to where?, whither?"

note, "when?" noté, "at some time, ever" omdte, "whenever, when?"

oV, "where?" oV, "somewhere" Omov, "wherever, where?"

n®g, "how?" nog, "somehow" dnwg, "however, how?"

What are the general rules for comparing adverbs?

In general, adverbs are compared by employing certain forms of a given adverb's comparative and superlative adjective. The
comparative adverb is typically the neuter Accusative singular of the comparative adjective, the superlative the neuter
Accusative plural of the superlative adjective.

What are the general rules for the formation of verbal adjectives expressing obligation or necessity? Briefly
describe how such adjectives are used.

In most cases, these adjectives are formed by dropping the past indicative augment and the -nv (and, where it appears, the
-0-) from the sixth principal part of a verb. The adjectival suffix -téoc, -1é&, -téov is then added to the resulting stem. If -¢-
or -x- precedes the suffix, they are changed to -n- and -x-, respectively. Such adjectives are employed in two ways: a
personal (passive) construction and an impersonal (active/middle) construction. The former is employed with transitive verbs
that take direct objects in the Accusative case and indicates that a verbal action is obligatory and must be performed upon the
noun or pronoun agreeing with the adjective. In the latter construction the adjective is used impersonally and does not agree
with a noun or pronoun. It is always neuter and Nominative in form, sometimes singular, sometimes plural. A Dative of
personal agent is used to indicate the person or thing for whom the action is obligatory.
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HANSEN & QUINN: Review Sheet #5 (for Units 11-20) - Verbs #1 (KEY)

Conjugate dxodw, dxodoouar, fkovoa, dkhroa, ---, odcOnyv in the present imperative active, middle and passive.

Label person and number. Translate the third person plurals:

D
3

2).

ACTIVE MIDDLE/PASSIVE
dKxove dxovete 2 &xovov dxoveche
dxovéTm &KovOVTOVY 3 dxovécHn dxovécOov
S P S P
"let them hear" "let them hear for themselves; let them be heard"

Conjugate Aoufdve, Myopar, #Edafov, eiAnea, elAnupot, EMiebnyv in the aorist imperative active, middle and

passive. Label person and number. Translate the second person singulars:

D
3

3).

ACTIVE MIDDLE PASSIVE

A6 Be AéBete AoBod A& Beche Mot MoeBnte
AoBétw AoBévov AoBécBo AoBécBmv Anedito AneBéviov
S P S P S P

"(you) take" "(you) take for yourself" "(you) be taken"

Conjugate didwut, ddcm, #dwka, dé8wka, Sédonat, £860ny in the imperfect indicative active, middle and passive.

Label person and number. Translate the first person singulars:

e

a).

ACTIVE MIDDLE/PASSIVE
£8idovv £6idouev 1 £6180unv £8186ueba
£8idovc ¢8idote 2w ¢8idoco £8idocbe
£6idov £6idocav 3 £6idoto £6idovto
S P S P
"I was giving" "I was giving for myself; I was being given"

Conjugate Yo, cticm, éotnoo (trans.) or otV (intrans.), éotnko. (trans.), éotapor, £é6tdOny in the present indicative

active, middle and passive. Label person and number. Translate the third person singulars.

5).

ACTIVE MIDDLE/PASSIVE
Totnut {otauey 1 Totapon iotduebo
{otng {otote 2 {otacat {otacbe
{otnow totaol(v) 3« {otatot {otavton
S P S P
"she stands X (up)" "she is standing (X) (up) (for herself); she is being stood (up)"

Conjugate tifnut, 0o, #Onxa, 1é0nko, 1éOnuot, €160ny in the present subjunctive active, middle and passive.

Label person and number.

1.
Qs
3u

6).

ACTIVE MIDDLE/PASSIVE
1106 T10dpev 1 T0duo 110dpedo
T8¢ T0fte 2 T0R 107 c0e
07 T0doL(v) 3 T0fiton T0dVTOn
S P S P

Conjugate koBictnut, kotastion, katéotnoa (trans.) or kotéotny (intrans.), koabéotnko (intrans.), koabéotopo,

xotestdOny in the present optative active, middle and passive. Label person and number.

1.
Qs
3u

7).

ACTIVE MIDDLE/PASSIVE
kobiotainv kobiotaipev/kobiotainuey 1 koBiotaipny  xabiotoinedo
xobiotaing kofotoite/xabiotainte 2w xabiotaio kobiotaiche
kobiotoin kobiotoiev/kabictaincov 3« kofiotoito kofiotoivio
S P S P

Conjugate dpictnut, droothicm, dnéstnoo (trans.) or dnéotny (intrans.), deéctnko (intrans.), doéotopuol, drestddny in

the present and aorist imperative active, middle and passive. Label person and number. Translate the second person

plurals.

D
3

PRESENT ACTIVE PRESENT MIDDLE/PASSIVE
doiotn dpictote doiotaco dpictocbe
dprotdtm APLoTAVTMV derotdodn derotdodav

S P S P

"(y'all) revolt" "(y'all) revolt; (y'all) be made to revolt"
AORIST ACTIVE AORIST PASSIVE

droothidt dmoothite dmootnOnTt dmootOnte
AROGTHTO AROGTAVTOV drootOto drootBévimv

S P

"(y'all) revolt" "(y'all) be made to revolt"



8). Conjugate mopodidout, tapaddon, topédnka, topadédnka, tapadédopat, topedddny in the present and aorist

infinitive active, middle and passive. Translate your forms.

ACTIVE MIDDLE PASSIVE
PRESENT nopodiddvor nopadidocOon nopadidocot
"to hand over" "to hand over (for oneself)" "to be handed over"
AORIST nopoadodvort nopaddchort ropadobfivon
"to hand over" "to hand over (for oneself)" "to be handed over"
9). Conjugate éritiOnut, émbhocw, énédnkoa, énrtédnko, mtéOnuan, énetéOny in the aorist indicative active and middle.
Label person and number. Translate the first person plurals.
ACTIVE MIDDLE
1 gnéOnical énéOepev 1 gneBéunyv éneBénebo
2w énébnkoc énélete 2w énéBov énéBecbe
3 gméOnxe(v) énébecav 3 ¢nébeto énébevto
S P S P
"we placed X on Y" "we placed X on Y for ourselves"
10). Conjugate émodidmut, drodbcm, dnédwka, dmodédwra, drodédouat, drneddOny in the aorist subjunctive active and
middle. Label person and number.
ACTIVE MIDDLE
1 anodd dmodduev 1 dmoddpo dmodduedo
2w Gmodidg dmodddre 2w Gmodd dmoddcbe
3« 4modd &moddoL(V) 3« dmoddTot dmoddvTon
S P S P
11). Conjugate npodidmut, tpoddcw, tpoédwia, tpodédwra, mpodédopal, tpoeddOny in the aorist optative active and
middle. Label person and number.
ACTIVE MIDDLE
1 npodoiny TPodoTueV/mpodoinuev 1 npodoiunyv npodoipebo
2u npodoing npodolte/npodointe 2u podoio npodoicbe
3 npodoin npodoiev/mpodoincayv 3 npodoiTo npodolvto
S P S P
12). Conjugate petavictopot, petavacsticopal, petavésty, uetavéstnka, ---, --- in the perfect indicative and infinitive

active and pluperfect indicative active. Label person and number. Translate the third person singulars and the infinitive.

PERFECT INDICATIVE ACTIVE

1 UETAVESTNKO  LETOVEGTOUEV 1

20 UETOVESTNKOG — UETOVECTOTE 20

3w HETaVESTNKE(V) HETOVESTAGL(V) 3«
S P

"he has migrated"
PERFECT INFINITIVE ACTIVE:

PLUPERFECT INDICATIVE ACTIVE

LETAVELGTHKN UETAVECTOLEY

UETOVELGTNKTG UETAVESTOTE

UETOVELGTHKEL(V) UETaVESTOOOV
S P

"he had migrated"

petaveostdval, "to have migrated"

13). Conjugate d18dcxw, 5186Em, £6i1d0&a, 5edidarya, Sedidoyna, 851840V in the future optative active, middle and
passive and future infinitive active, middle and passive. Label person and number.
ACTIVE MIDDLE PASSIVE
1 S188&o1ut 3188&ouev didaoiumy Sd18aoipebo Si8aybnooiuny  d18aybnooipedo
2w 318601 S186&otte S184&o10 S188&0160e ddoxBncoo  S1daybhcoiche
3« 31860t d1d6&otev d1da&otto ddaovto didaybhcorto  didaybhcowvo
S P S P S P
INFINITIVE:  &184&ewv S184&ecbon S1daxBnoecon
14). Conjugate 6¢l, dehoet, £6énce(v), ---, ---, --- and xpA, xpfcta, ---, ---, ---, --- in the present indicative, subjunctive,
optative, and infinitive active, imperfect, future and aorist indicative active. Label person and number.
PRESENT INDICATIVE del xPN
PRESENT SUBJUNCTIVE dén Pl
PRESENT OPTATIVE déot xpein
PRESENT INFINITIVE delv xphivot
IMPERFECT INDICATIVE £de1 xPRAV/ExpRV
FUTURE INDICATIVE denoet xphoTon
AORIST INDICATIVE £0énoe(v) ---

all finite forms are third person singular



HANSEN & QUINN: Review Sheet #6 (for Units 11-20) - Verbs #2 (KEY)

1). Conjugate deixvout, deifm, 8e1&a, §63e1yn, Séderynon, €8eixOnv in the present subjunctive and optative active,
middle and passive. Label person and number.

PRES SUBJ ACT

PRES SUBJ MID/PASS

1 deuevim deucvidmpey detevidmpot detkvooduedo
2u detkvimg detkvimte detkvin detcvimobe
3« dewkvin detkvimoi(v) deuevimTon detkvbmvon
S P S P
PRES OPT ACT PRES OPT MID/PASS
1 deuevion devcviorpev detcvvoiuny detkvvoinebo
2 detkviolg deikviotte detkviotlo deueviorsBe
3« detkviol detkviotey delkvvorto detkvbolvto
S P S P
2). Conjugate eiui, ésopou, ---, ---, ---, --- in the present indicative, subjunctive, optative and imperative active and
imperfect indicative active. Label person and number. Translate the second person singulars.
PRES IND IMPF IND PRES SUB PRES OPT PRES IMPER
1 elud n /My @ ginv -
singular 2 el NoBe S eing {601
3« ¢otl (v) nv n e £otw
1 gopév Auev duev eluev / eimuev -
plural 2m goté nte e gite / einte gote
3 eiot (v) Aoov OoU(V) glev/einoav  &otav / Svtav
"you are" "you were" - - "(you) be"
3). Conjugate onui, pnow, £pnoa, ---, --- , --- in the present indicative, subjunctive, optative and imperative active and
imperfect indicative active. Label person and number. Translate the third person plurals.
PRES IND IMPF IND PRES SUB PRES OPT PRES IMPER
1 onui Epnv f010) eoinv -
singular 2w ong gonobo / Eong  ofig Qaiing @661
3 onoi(v) éon of oain 4T
1 Qouév gpopey QAdUEV eoiluev/eainuey ---
plural 20 Qoté gpote ofte polte/painte  @ate
3 Qoci(v) gpacov eOoL(V) palev/painocoy  @avIov
"they say" "they were saying" - - "let them say"
4). Conjugate yiyvdoxm, yvdoouat, Eyvov, fyveko, Eyvacuat, Eyvadctny in the aorist indicative, subjunctive, optative and
imperative active. Label person and number. Translate the second person plurals.
AOR IND AOR SUB AOR OPT AOR IMPER
1 gyvav ) yvoinv -
singular 2w Eyvac WG yvoing Wat
3 gyvo WO yvoin YVOT®
1 gyvouey yvouev yvoluev/yvoinuev---
plural 2 gyvaorte yvdte yvolte/yvointe YVOTE
3 gyvooov YVAGL(V) yvolev/yvoincov yvovTev
"y'all knew" - - "(y'all) know"
5). Conjugate eiut, ---, ---, ---, ---, --- in the present indicative, subjunctive, optative and imperative active and imperfect
indicative active. Label person and number. Translate the third person singulars.
PBES IND {MPF IND PRES SUB PRES OPT PRES IMPER
1 el no / few io {out / loinv -
singular 2 el Hewobe /fleig Ing {oig (G
3w gloi(v) Heuv) n o1 1o
1 iuev ey {opev {owuev --
plural 20 {te nre inte {oute {1e
3« {oo(v) noov /fecov  {wou(v) {olev 16vtov
"he will go" "he was going"  --- - "let him go"



6). Conjugate mut, -ow, -fka, -eika, -elpat, -€Onv in the present indicative, subjunctive, optative and imperative
active and imperfect indicative active. Label person and number. Translate the second person singulars.

PRES IND IMPF IND PRES SUB PRES OPT PRES IMPER
singular 1 Mu v 1® leinv ---
20 ng /el leig i teing {e1
3 Mmo(v) 1e1 | iein 1é1m
plural 1 Tepev Tepev 1duev ieluey /leinuey  ---
20 lete lete ifite elte / teinte lete
3« 1aou(v) {ecav 10cL(V) ielev /einocav  1éviov
"you send" "you were sending"--- - "(you) send"
7). Conjugate cuvinut, suviicw, cuviika, cuveika, cuvelpot, cuveibny in the present indicative, subjunctive, optative
and imperative and imperfect indicative middle and passive. Label person and number. Translate the first person plurals.
PRES IND IMPF IND PRES SUB PRES OPT PRES IMPER
singular 1- cuvignot GULVIEUNV GUVIOUOL ouvieiunyv ---
2+ cvviecat ovvieco ouVVij ouvielo ovvieco
3« ovvieton ovvieto cuvifiton GUVIETTO cuviécbo
plural 1+ cuviéuebo cuviéuebo cuvidpedo cuvieineBo -
2w ovviecbe ovviecbe cuvificle ovvieloe ovvieshe
3« cvvigvton ovvievto cVVIAVTOL oVVIEIVTO cuviécbav
"we "we used to --- --- ---
understand" understand"
8). Conjugate dpinut, denow, defka, deelia, doelpot, deeibny in the aorist indicative, subjunctive, optative and
imperative active and middle. Label person and number. Translate the first person singulars.
ACT AOR IND AOR SUB AOR OPT AOR IMPER
singular 1 Gofixo QD qoeiny --
2+ aofixag aofic Gpeing GoEg
3 Gofike(v) a0t Aoein Qpétm
plural 1 Qeipev doduev &oeluey / deeinuey -
20 Qoeite dofite qoelte / dpeinte Qoéte
3 qopeiocav QeMdGL(V) Goelev / doeinoov QPEVTOV
MID "I released" --- --- ---
singular 1 qeiuny GoduoL &oeiuny --
20 apeico a0t apeio oD
3 aeito aofitat G@elto / dpoito dpécbn
plural 1+ Speipebo Goouedo doeinedo. / dpoiueboa -
2w deelobe doficOe dpeicbe / dpoiche dpéobe
3 QQeIvVTO QpdVTOL Q@evTo / Geoivio dpécbov
"I released for myself" - - -
9). Conjugate oida, elcopa, ---, ---, ---, - in the perfect indicative, subjunctive, optative and imperative active and
pluperfect indicative active. Label person and number. Translate the third person singulars.
PERF IND PERF SUB PERF OPT PERF IMPER  PLUP IND
singular 1 0ida eldd eldeimv --- 1ion / fidewv
2 oicfo eldfic eldeing {601 Hdnobo / fiderg
3« 010e(V) lof £1dein {ot® noeu(v)
plural 1 iouev eldduev e1deluev / eldeinuev - ﬁcuev / 1deuev
2u {ote etdfjte eidelte / eldeinte {ote note / fidete
3« {cooi(v) elddo1(v) e1delev / eideincav {ctov noov / §decav
"he knows" --- --- "let him know" "he knew"
10). Conjugate xeipon, xketoouon, ---, ---, ---, --- in the present indicative, subjunctive, optative and imperative and
imperfect indicative middle. Label person and number. Translate the second person plurals.
PRES IND IMPF IND PRES SUB PRES OPT PRES IMPER
singular 1 Kelpon gxetuny KEMUOIL keotuny --
2u Keloot £Kke100 Kén k€010 Keloo
3 Kelton £xerto KéNTO KEO1TO keicOw
plural 1+ keinebo gxeipebo keodpedo keoiuebo -
2w kelobe #xerole kénobe kéolole kelobe
3« KevTO £xevto KEDVTOL KE01VTO keicOwv

"y'all lie" "y'all were lying" - "(y'a'll) lie"



1).

2).

3).

a).

5).

6).

7).

HANSEN & QUINN: Review Sheet #7 (for Units 11-20) - Clauses (KEY)

How does one generally issue a command in Greek?
The imperative mood, of course. Alternatives include the hortatory subjunctive and independent object clauses of effort.

What are the two basic ways to make a prohibition in Greek? Be specific about the circumstances in which each
is employed.

Prohibitions (introduced by un) employ either the imperative or a subjunctive. For a prohibition with simple aspect, employ
the aorist subjunctive (hortatory in the first person plural, prohibitive in the second and third persons). For
progressive/repeated aspect, employ the present imperative in the second and third persons, the present (hortatory)
subjunctive in the first (plural).

Describe the four types of temporal clause with which you are familiar: moods of verbs in main and temporal
clause, temporal conjunctions employed and what sort of relative time each conjunction indicates.

Past definite temporal clauses are introduced by a past tense of the indicative (negative 00) and énel or ére1dn ("after, when")
+ a past (usually aorist) indicative (negative ov) to indicate prior action, §te ("when") + an aorist or imperfect indicative
(negative o0) to indicate simultaneous action. Present general temporal clauses are introduced by a present indicative
(negative 0¥) and éne1ddv ("after, when, whenever") + an aorist subjunctive (negative un) to indicate prior action, otowv
("when, whenever") + a present or aorist subjunctive (negative un) to indicate simultaneous action. Past general temporal
clauses are introduced by an imperfect indicative (negative 00) and érnei or éne1dn ("after, when, whenever") + an aorist
optative (negative un) to indicate prior action, ote ("whenever") + a present or aorist optative (negative pf) to indicate
simultaneous action. Future more vivid temporal clauses are introduced by a future indicative (negative 00) and énelddv
("after, when") + an aorist subjunctive (negative o¥) to indicate prior action, §tav ("when") + a present or aorist subjunctive
(negative 00) to indicate simultaneous action.

Aside from its basic meaning ("with X Y-ing") provide four additional ways to translate a Genitive Absolute.

Genitive absolutes can also have temporal ("when Bob had escaped the dungeon"), concessive ("Although Bob had escaped
the dungeon"), or causal ("Since Bob had escaped the dungeon") relations to the main verb of a sentence. A Genitive
absolute can also stand as the protasis to a conditional sentence (negative un): "If Bob had escaped the dungeon".

What conjunction introduces a fear clause? What dictates the mood of the verb in a fear clause?

Fear clauses are introduced by uf. To express a fear that something may/might not happen, uf o0 is used. In fear clauses
referring to subsequent action, the verbs in fear clauses follow the rules for sequence of moods: subjunctives after primary
tenses, optatives after secondary tenses. For fear clauses referring to contemporaneous actions, indicatives are used.

Describe object clauses of effort: introductory conjunction, tense and mood of verbs, independent use, etc.

Object clauses of effort often follow verbs of striving, effort, or caring (such as punyovaouot, unyevicouot, Eunyxovnoéuny,
---, ueunydvnuot, ---, "contrive, devise"). They are introduced by 0nwg, "that". The future indicative is employed for all
verbs in object clauses of effort, even when the introductory verb is in a secondary tense. These clauses can be used
independently (i.e., without an introductory clause but with the 0nwg remaining) as alternatives to commands and
prohibitions.

Describe the three major ways to construct indirect statement in Greek: introductory conjunctions, mood/tense/
form of verb in main and subordinate clause and case of subject in subordinate clause. For each type of indirect
statement give the first principal part of two verbs that can introduce it.

Indirect statements can be made in three ways in Greek. 1). One can employ the conjunctions 611 and d¢ with a finite verb.
The verb in the indirect statement is indicative if the main verb is a primary tense, optative (or retained indicative for
vividness) if the main verb is a secondary tense. 2). One can use an Accusative/infinitive construction. In this case, the
subject in the original statement is placed in the Accusative case and the verb is changed to the corresponding tense of the
infinitive. 3). One can use a participle/Accusative construction. In this case, the subject in the original statement is placed in
the Accusative case and the verb is changed to the corresponding tense of the participle.



8).

9).

10).

11).

12).

13).

14).

15).

Describe the retained subjunctive: when it occurs, what force it has, three types of clauses in which it can occur.

A retained subjunctive occurs in purpose and fear clauses introduced by a main verbs in secondary tenses, instead of the
expected optative. A retained subjunctive presents the intention or fear more vividly than the optative. This vividness cannot
be represented in translation, however.

How does one express an unattainable wish in Greek? Provide information on the two different types (i.e. times)
and the introductory words and negative employed.

Unattainable wishes are introduced by £{0¢ or € yé.p and have verbs in past tenses of the indicative: imperfect indicatives for
wishes referring to present time, aorist indicatives for wishes in past time. The negative is un.

How does one form an indirect question in Greek?

Indirect questions consist of (a) finite verb(s) introduced by (an) (usually) indirect interrogative word(s). When the
introductory verb is in a primary tense, the verbs in the indirect question retain their original moods and tenses. If the
introductory verb is in a secondary tense, all verbs in the indirect question are changed to the corresponding tense of the
optative or are retained as indicatives.

Give the characteristics of temporal clauses introduced by péypt and £w¢: mood and tense of main and
subordinate verb and general rule for translation.

Temporal clauses introduced by péypt and €ng (typically) take a past indicative when the main verb is past and the temporal
clause refers to a definite act in past time and &v with the subjunctive when the main verb is either present or future. péypt
and £€o¢ generally mean "until" when the verb they introduce has simple aspect (aorist indicative or subjunctive) and "as long
as" when the verb they introduce has progressive/repeated aspect (imperfect indicative or present subjunctive).

Give the characteristics of temporal clauses introduced by npiv: mood and tense of verb in clause and what
generally dictates what verb form appears in the clause.

npiv introducing an infinitive (with a possible Accusative subject) means "before". The main clause is usually not negated.
If the verb of the main clause is negated, mpiv introduces a finite verb and means "until". It takes either a past indicative
(when the main verb is past) or &v with the subjunctive (when the main verb is either present or future).

Describe some of the characteristics of constructions involving the impersonal verbs 6¢t and ypn: person and
number of subject, supplementary verb forms and use with negatives.

All finite forms of ¢l and ypn have no definite subject and are third person singular. Their participles appear in the neuter
only. They often take an infinitive, usually with a subject Accusative, to complete their meaning(s). When negated, d¢1 and
xpN generally mean "must not", though ov d¢l can sometimes mean "there is no need". 8¢l can take a Genitive of separation
(of the thing needed).

Describe how the verb doxéw can be employed to mean "seems best": person, number and form of subject.

dokém can be employed in the third person singular to mean "it seems best" to express a personal or collective opinion or
decision. In such sentences, a pronoun or infinitive serves as the subject.

Describe the Accusative Absolute: types of verbs whose participles are employed in the construction, person and
number of said participles, subject of said participles (if any) and general difference between Accusative and
Genitive Absolute.

The Accusative absolute employs participles of impersonal verbs (e.g.: 8¢, xp1, doxel, ££eoti(v)) in the neuter singular.
They can govern an infinitive, just as do the other forms of these verbs, but without an accompanying noun or pronoun. The
Accusative absolute is a circumstantial use of the participle and expresses a circumstance separate from the main clause of
the sentence. Yet the obligation or possibility expressed by an Accusative absolute usually applies to someone named in the
main clause.



